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FEfad STeT 9dTsy Sidfe a9t 9 AH. BT |
Estimate the yield when rain fall is 9 cm.

=1 sffersl 9 fheR areel Maena @ ToFT ST
Calculate Fisher's ideal index numbers from the following data :
1999 2000

oLr dher | ek=k dher | ek=k
Commodity| Price |Quantity Price |Quantity

A 10 49 12 50

B 12 25 15 20

C 18 10 20 12

D 20 5 40 2

E 22 8 45 5

OR

=T ! | =AaH @ AT §RT IR Jed Si1d difoTy -
Find the trend value by least square method from the following data:

Year / 9 2014 | 2015) 201¢ 2011 2018 2019

Production /Sdreq 5 7 9 10 12 17

YR 5.

7 eIGl @ Q1eRT B T A1 o dhR fha- HHed e -7l T a1

ST HdhT B7

In how many ways can the letters of the following words be arranged

separately?

() STATISTICS (i)
OR

AT &1 U T! H TS U1 A1g28T fHbTell Srar 2 | am uifdyamar

g f& a8 ‘qreemg’ A ‘g BN

A card is drawn at random from a pack of cards. What is the probability

that it will be 'King' or an 'Ace'?

T JeT § 5 WHE, 4 Blell, 3 Uell IR 4 o1 1S & | U& g A1gfeed

U W Fhe™ R SHD Blell AT ATl 89 BT RGBT T 27°

A bag contains 5 white, 4 black, 3 yellow and 4 red balls. What is the

probability of getting a black or red ball at random in a single draw of one?
___X___
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Note : Section'A’, containing 10 very short-ansiygre questions, is compulsory
Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A" has to be solved first.

Section - A’
futukfdr viry?ikjh ¢'uk d mikj ,d ;k nk olD;k e nA
Answerthe following very short-answertype questions in one otwo
sentences. (1x10=10)

Te 1. 3MGRT faavor fha™ yeR @1 Bl 27 A forkag |
How many kinds of frequency distributiow?ite the names.

T 2. HIRIHT S R bl Uafdaerd e &1 g3 forkag |
Write the formula of step deviation method\othmetic mean?

T 3. AU faged one &1 g forfan |
Write the formula of Quatrtile Deviation.

T 4. =R qUNE Sd B BT g forlag |
Write the formula of codtient of variation.

Te 5. AEArE fhay YHR & 80 27 9 foRav |

How many types of correlation¥rite the names.
P.T.O.
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YA fageryor fohas YR & B 82 = forRay |

How many types of regression analy$iie the names.
flrer & fadena fafy &1 g3 ey |

Write down the Fisher's formula of Index Number

BT 20T H STEdBIel UgiT H RT3 57

What is the meaning of Long teffrend in time-series?
qaTTA T @1 e yaR @1 fafet gy 87 w7 forlRag |

How many methods of forecasting®ite the names.

U9 10. 52 U DI AT BT TSI H A 1G98 AT @ =T Iii¥idar 27

TR 1.

What is the chance of drawing a king in a draw from a pack of 52 cards?
Section - 'B'

fuEukfdr y?% mikjh; ¢'uk d mikj 150&200 °Kn Bhek e n
Answer the following shot-answertype questions with word

limit 150-200 (5x5=25)
fgdires THd A w1 MR 27 fadiad oGl & A @ fafer o

] BT |

What do you mean by secondary data? Explain the various methods of
collection of secondary data.

OR
fr=forRad oraa™ ITi=aRl &l A iR 2ol § deforw:

Convert the following unequal class-intervals into equal class intervals
series:

ERE

Classintervals0-3 | 3-5| 5-1Q 1011 1-13| 13-15 15-20

Smafr

Frequency |2 4 8 15 6 10 5
ye 2. ffoliRaa F¥al ¥ A agdd @l T DIfT:

Calculate the third quartile from the following data:

Class#t 03 | 36 | 612 12-20| 20-24

Fequencyaafi 6 21 25 16 | 12

(5) Code No. : B-237

Week/\g«iTg 1 (2 3| 4 % (6 |7 |8 |9 |10

AT

IR 3.

Earning'sinRs, 54 @2 (l)3 65 (68| 71| 73| 78| 82| 84
UL H
OR

= |Rell & wreifiasds fawwar e s SIS -
Find out the Karl Pearsons coefficient of Skewness for the following
distribution :

UTdics W 7SI
Marks More than 0]10] 20] 30 40 50 &0 (70| 80

BIEl BT G
No. of Students 150 140 100 8( 80 [0 |30 | 14 0

fforRaa FHer | uftr &R ufs &1 oMy & weg BIel [0gdT &7
HEAH TN ST BITY

Calculate Karl Pearsons coefficient of correlation between the ages of
Husband and wife and comment on the result :

ufr @1 3y (@)
Age of Husband @ar) 23| 27 28 2P 30 31 B3 (35 (36 B9
ufeT 1 g (@)
Age ofWife (Year) | 18| 22| 2B 24 25 26 P8 |29 |30 [32
OR
FfaRad = fQU 81 & -
Following values are given :
UEECARSEN SN Y9 faeret
Yield of wheat Mean Standard Deviation
eF (fham ufa o)
Area (Kg perunit) 10 8
gt (AL #)
Rain (in cm) 8 2

IATE AR g7 & §ra Fe-Aee o r = 0.5
Correlation coefficient between production and rainifalp.5

P.T.O.
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OR
7 el ¥ IR 9 fdR [oria sma S

Find the range and its co-efficient of the following :

Age in years¥rg aui | 510 | 10-15| 15-20| 20-25
Frequencygmafy 10 15 20 | 5

15 Ug Ml Bl X 3R Y SIOR Bl 7171 GaRil & AR R Ao
TUTis T TUMET BT |

On the basis of following information &f & Y series of 15 pairs of
observatons, calculate co-efficient of co-rrelation :

Standard DiviatioryATa fa=rer
X Series#oft =3.01
Y Series#oi =3.03

X 3R Y FHGHATARN & ==l & qOM Wall & A[T = 122

Summation of products of corresponding deviatioK @ Y series = 122 2
OR

AT | AT SR 57 YATTHA [Aeelyor & SUATRICT B AR

BT |

What is meant by regression analysis? Explain the utility of regression

analysis.

BHIASTN A FIT MR &7 BTl [Jgelvor &7 A2 qarsy |

What is meant byime Series? Describe the importanc&iofe Series
analysis.

OR

GADih H T 3R 7 Fabich I ST T Hed bl RS DHIfoTY |

What is meant by Index? Explain the utility and importance of index number

TH RIFD Bl 4 IR Bh W IRT IR O 3 T a1 uifdydpar 27

What is the probability of getting all theHeads in four throws of a coin?
P.T.O.
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OR
7 el ¥ fIdR 9 fdR [oria sma s

Find the range and its co-efficient of the following :

Age in years¥rg aui | 510 | 10-15| 15-20| 20-25
Frequencygimafy 10 15 20 | 5

15 Ug i 1 X 3R Y Sif0R7 &l 711 el & R R e
TUTis T VT BT |

On the basis of following information & & Y series of 15 pairs of
observatons, calculate co-efficient of co-rrelation :

Standard DiviatioryATa fa=rer
X Series#on 6, =3.01
Y Series#oi =3.03

X 3R Y FHGHTARN & ==l & UM Wall & A[T = 122

Summation of products of corresponding deviatioK & Y series =122

OR

AT | &7 3R 87 GO {I9eiyor &f SYARIT &1 2IRa
B |

What is meant by regression analysis? Explain the utility of regression
analysis.

PHIASTN A FIT MR &7 HTrAvl] [Jgelvor &7 Agd qarsy |

What is meant byime Series? Describe the importancé&iofe Series
analysis.

OR

FADbih H T 3R 27 Gabich Dl SN T Hed bl RS DbIfoTY |

What is meant by Index? Explain the utility and importance of index number

TH RIFD Bl 4 IR Bh- W IRT IR FoOd 3 T qar uifdydsar 27

What is the probability of getting all theHeads in four throws of a coin?
P.T.O.
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OR

TEh O H 10 Blell MR 20 WO W 2 |

(1) TP Prell g ToIr

2) TH awe g FMare @ ®1 wiRiddr 8R |

A bag contains 10 Black and 20 White balls, What is the probability of
drawing

(1) Ablackball, and

(2) Awhite ball.

Section - 'C'

fuEukfdr nh?% mikgh; ¢*uk d mikj 300&350 *iin Bhek e ni
Answer the following long-answettype questions with word

limit 300-350 (8x5=40)
= FH® Ao & Igaar (RsE) @1 TOET I |

Find out Mode of the following data :

I 3RTA
Class interval$10-20| 10-30 10-40 10-p0 10{60 10-70 10-80 1j0-90
Frequency 4 16 56 97 1p4 137 ({146 [150
OR
=1 IR | AegaT @) T BN
Determine Median from the following distribution :
PR
Size O(1] 2 3 4p & 1n-16| 16-21] 21-26
C
Frequency |13 9| 8| 3| 1 7 2( 45 15

A AT R dTel ATKIRd 3 I YAT {[d=er &l ITOMT
B

Calculate the standard deviation of a wage earner's weekly earning :

URA 1.

URA 2.

4 Code No. : B-237

OR

& Ol H 10 Plell MR 20 Ao A 2 |
(1) UP @rell g
(2) UH AWe g FMde @ @1 mRidmdr 8R |

A bag contains 10 Black and 20 White balls, What is the probability of
drawing

(1) Anblackball,and

(2) Awhite ball.

Section - 'C'

futukfdr nh?k mikjh; ¢'uk d mikj 300&350 *kin Bhek e ni
Answer the following long-answertype questions with word

limit 300-350 (8x5=40)

= |H® e & gear (Rs®) @ T B |

Find out Mode of the following data :

ERES SN

Class interval$10-20| 10-30 10-40 10-p0O 10{60 10-70 10-80 1j0-90

sy

Frequency 4 16 56 97 1p4 137 {146 [150
OR

o IR & Feg BT Y TOET BHIRTY

Determine Median from the following distribution :

TPR

Size 0|12 3 4p & 1n-16| 16-21 21-26

amgfr

Frequency |13| 9( 8| 3| 1( 7 2( 25 15

OGNl JAfSId B dTel A2 M H YA fdeeld @l oMl
BT

Calculate the standard deviation of a wage earner's weekly earning :



